

DublSoft®

Premium Tissue Products

DublSoft® offers the premium quality and refined image that is expected in the most upscale facilities. Featuring premium embossing and stylish packaging, DublSoft® tissue will appeal to your most discriminating customers and patrons. The line includes OptiCore® and universal bath tissue as well as facial tissue. For premium quality and appearance, choose DublSoft® premium tissue products.



DublSoft® Premium Bath Tissue

DublSoft® bath tissue features consumer-like floral embossing for exceptional softness. Universal tissue is available in both 400 and 500 sheet rolls to satisfy any facility's need. The OptiCore® tissue provides optimum savings in maintenance time and costs when combined with our controlled-use dispensing systems.



DublSoft® Premium Facial Tissue

DublSoft® facial tissue offers superior softness for the most discriminating customers. Facial tissue features a colored indicator line to notify staff that product is low, saving maintenance time. The stylish contemporary packaging makes the flat or cubed box facial an attractive addition to any décor.

CONTROLLED BATH TISSUE

No.	Ply	Description	Dispenser	Sheet Size (W" x L")	Sheets/Roll	Rolls/Case	Sheets/Case
06390	Double	DublSoft OptiCore®	80200, 80300, 82300	3¾ x 4	800	36	28,800
06325	Double	DublSoft®	72300, 72600, 88400	3¾ x 4	625	48	30,000

UNIVERSAL BATH TISSUE

No.	Ply	Dispenser	Sheet Size (W" x L")	Sheets/Roll	Rolls/Case	Sheets/Case	
06380	Double	72200	43/8 x 4	500	80	40,000	
06348	Double	72200	4¾ x 4	500	48	24,000	
06480	Double	72200	43⁄8 x 4	400	80	32,000	

FACIAL TISSUE

No.	Ply	Box	Sheet Size (W" x L")	Sheets/Box	Boxes/Case	Sheets/Case
06100	Double	Flat	8 x 8	100	30	3,000
06185	Double	Cube	8 x 8	85	36	3,060

Availability and specifications are subject to change.



©2013 Wausau Paper

